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34. If 0.75:x::5:8. Then x 1s equal to
(A 112 ' \W( 1.20
(C) 1.25 (D) . 1.30
0.75:x::5:8 araflév x-am gl sram
(A) 1.12 (B) 1.20
(C) 125 (D) 1.30
54. Find the missing term ——  : 45 = 35 : 63.
&) 53 2
(C) 35 (D) 55
N HULL cTeRT STETs.
:45=35:63.
(A) 53 (B) 25
© 35 (D) 55
90. What is the missing number in the proportion? 4:13:64:
@A) 168 . (B) 198,
- 208 _ . o (D) 228
AerpésiulL efdgssa BB eramor wimgy? 4 :13 :: 64 : — —
A 168 ‘ L B) 198
(C) 208 B o (D) 228
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Find the missing term in the following proportion 2:3; 22 .
@ 2 . L ® 2

© F @ 23

&psan_ g sogHo ABLILL et — 8 snewis. 2:3; 2% :
@ 2 - ® 2
© 3 - | @) 2x3

. 'Fiﬁdl;hemissingnumberinthe.phceof “U3:11:7:7
(A 18 ' , o (B) 22

© 2 /gaf‘s_l

3:11:7:7 “P aréap @)L 5O AGULL ereimenems SO Gy

@) 18 | - (B 22
© 2 . e ™ 51
l:l,::l:L_.l“ind:m B
5 x x 1.25 . :
@ < | ) 3
1 | 3
c = =
© - © =
11,1 1 . .. .
E'x-f.x'1,2‘5 eTaflé xm.mﬁuqmm.
-2 5
. : 3
© 5 o :
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6l - If - ; L : el then find the value of x
S x % 1256
(A) 1.5 B) 2
w 2.5 D) 35
T e S e it :
—5-‘. i erafley x —er ALy s
A 1.5 (B) 2
© - 25 D) 35
165. The value of x where x:2%::21 :50 1s
1 1
A 1— —
@) 49 ®) 150
49 27
50 ® 3
x:2%:: 21:50 erenm oflflg 058l x @ iy
1 1
A 1— B
(A) 29 (B) 150
49 27
C = L1
©) 20 (D) 50
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62.

71.

Find the ratio of 9 months to 1 year

w 3:4 B) 4:3
©

9:1 ®) 1:9

9 brsEdDEW. 1 uBLEEDEGL Qe Cwwrar Néssmss srars.

(A) -3:4 : B) 4:3
© 9:1 ‘M) -1:9

Find the ratio form of 4 years to 8 months

(A) 4:8 - - | (B) 8:4

© 1:2 & 61

8 LoTghisEnsdE 4 euhLhiseT aemsar 608 aulg aulb créren?

(A, 4:8 o (B 8:4

© 1:2 S D) 6:1

The ratio of 9 months to 1 year is

(A) £2<3 MB:

4
©) . 4:5 D) 5:6
R ULl 9 wrghsalen clflssms sy
A 2:3 - | , | (B 8:4
© 4:5 (D) 5:6
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58.

%ﬂe

~

/[lt.me/tnps

If the ratios formed using the numbers 2, 5, x, 20 in the same order are in proportion

then x 1s.
(A) 50 B) 4

€ 10 s

2,5, x, 20 gAu aamsmer 65 aflewslieo vwaLSH moYD dfgrsear Hdlg swwrs
i .
@mulen x =7

(A) 50 B) 4
© 10 (D) 8
IfA:B=1:§;B:C=lzliandC:D=§-:§,thentheratioA:B:C:Dis

2 8 3 9 6 4 :
(A)" '4:6:8:10 B) 6:4:8:10
(C) 6:8:9:10 & 8:6:10:9

p13p.~_1.5 ~c.p2.38 A B )

A.B—2.8,B.(,—3.9C3mgz|mC.D 6.4aaﬂmA.B.C.Da;@smmrrngc@?
(A) 4:6:8:10 B) 6:4:8:10
(C) 6:8:9:10 D) 8:6:10:9

fA:B=2:3B:C=4:5C:D=6:7thenfind A:B:C:D
(A) 16:22:30:35 (B) 16:24:15: 35
\V 16 :24:30: 35 _ (D) 18:24:30:35

A:B=2:3B:C=4:5C:D=6:Tcallo A:B:C:D sran

(A) « 16§22

2 : 3D (B) 16:24:15:35
(C) 16:24:3

: 89 o (D) 18:24:30: 35
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78. Ifa:b=3:2, b:¢=3:4, c:d=2:3 finda:b:c:d

(A) 3:2:4:3 B) 9:6:8:6
M 9:6:8:12 (D) 3:6:8:12

a:b=3:2,b:c=3:4, c:d=2:3 aafl® a:b:c:d g snam
(A) 3:2:4:3 . B) 9:6:8:6

(C) 9:6:8:12 (D) 3:6:8:12

5. Ifx:y$2:3and'y:z=5:7thenx:z:?
@ 2:7 | B 3:5

© 71:10 - GfMN\w:21

x:y=2:3Cw@by:z=5:7aaflo x:2=7
@ 2:7 ‘ | ®) 3:5
© 7:10 | . @) 10:21

44. I1f A:B=6:5 B:C=5:8and C:D=7:9, then the ratio A: D is
A 3:7 ' . ®) 7:3
(C)' 12:7 : o '.W?:u |
A:B=6:5 B:C=5:8wpmb C:D=7:9 aall®o A: D =7
@ 3:7 - ®) 7:3
€ 12:7 ® 7:12
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86. 1f A:B=3:4and B:C=8:9.Thenfind A:C.
4) 1:3 B) 3:2

@ 23 S D) 1:2

A:B=3:4 wpmud B:C=8:9 aafléd A:C g sneir.
(A) 1:3 ' , (B). 3:2
© 2:3 : D) 1:2

11. If A:B=4:6 and B:C=18:5 then A:B:C is

(A) 4:6:18
B 2:3:9
(C) 4:6:5

y 12:18:5

A:B=4:6 aemeyd B:C=18:5 ey @u9en A: B:C =7

(A) 4:6:18
B 2:3:9
(C) 4:6:5

D) 12:18:5
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185. If A:B=2:3 and B:C=4:5 then C: A is equal to

B) 6:56
C) 8:5
D) 8:15

A:B=2:3 wog B:C=4:5eafld C: A =

(A) 15: 8
B): 6:5
(C) 8:5
M) 8:15

~134. Ifa:b=3:5 and b:c=T:8;then a:c willbe

W 21:40

B) 40:21
(©) 22:42
(D) 42:22 )

b a:_b=3:-5 HHID ﬁ:_c=7:8 srafiéy; @ :c-en wHiy

(@A) 21:40
®) - 40:21
© 22:42
D) 2:22
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-~ 81.

If A:B=3:4 and B:C=8:9 then A:C is

A) 1:3 (@B 3:2
@7 2:3 | - M 1:2

. A:B=3:4 wppd B:C=8:9 aefld A:C aang

(A 1:3 ' _ : B) 3:2
© 2:3 | - (D) 1:2

172, IfA:B=2:3and B: C=4:5 then find the raticof C: A

\yb/lszs (B) 8:15

(C) 5:4 (D) 5:20

A:B=2:30ppbB:C=4:5eafles C: A an cldlgib srans.

(A) 15:8 (B) 8:15
(C) 5:4 D) 5:20
89. 1f§=%thenﬁndx+5;y+s
(A) 35 (B) 13:8
(C) 85 o) 538
X-2 aafle x+5:y+8 smewr
b 8
(A) 35 (B) 13:8
(C) 85 D) 5:8
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19. Ifx:y=3:4 find (4x + 5y): (5x - 2y)

npscfree

https

;/ét.r

@ 7:32
B) 9:3

W 2.7
@) 12:7

x:y=3:4 aafl® (4x +5y): (5x - 2y) —érm,ﬁuq&rr'aﬁr
@Ay, 7:32

(B) 9:3

© 32:7

M 12:7

If x:y=3:5 then (5x+3y) (15x=2y) is
@) 7:6 | a6
©. 3:5 ; (D) 5:

x:y=3:5aafl®, (5x+3y) : (15x-2y) '.ﬂ,wg' :

A 7:6 B) 6:
©)F B:6 % 5 S
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g 3= 2:3 t’henﬁnd (sx -y) (3x+2y) G e ot Lo
© 4:3 S s}f 3:4 VST R
amy=2 3 Grdﬂw(&-yl(&ﬂy)meﬂﬂﬁmﬂwm? e s AR

i e S e L@ aig

y .

W g L T e G e

-

v

(7p]
o
)

e

If x: y=2:1 then find (x* - y%): 2% + ?

Cx:y=2:1aefld (x% - y%): 2® + y’ snei.

@ 3:5 S ® s
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- 69. Ifxy34ﬁnd(4x+5y) (5x—2y} S
4/32 7. - ' f(B) 8:7

© 7:4 - .' @ 34:7
-x:y=3:4 rafld, (4x+5y):_(5x.-.2y)5ms :

@ 821  ® s
(C)"-.- T:4 | S O 34:7

88. l. fx:y=2 :.1 then (x2 —;).rz):(a\c2 +":3;-2) 8

@ 2:4 | - ® 2:3

© 1:3 | - gl

x:y=2:1aale (x? - y2):(x? + »%)- @y _

@A 2:4 o ®) 2:3 -

© 1:3 - O 3:5

83. Ifx:y=5:2 then (8x+9}']:(8x+2y) 1s
(A) 22:29 (B) 26:61
& 29:22 D) 61:26

X:y=295:2ealld® (8x+9y]:(8x+2y]srehugj
(A) 22:29 (B) 26:61
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74. The equivalent ratioof 2 : 7 is
A 4:7 B) 8:21
C 6:14 : & 6:21
2 : 7 arenp fll558m @ swworen ellflsn
(A):: 447 : _ B) 8:21
© 6:14 D) 6:21
79, The ratio 5: 4 expressed as percent equals
(A 12.5% (B) 40%
© 80% o 125%
5 - 4 cranm Aldipsfen spaip wHinEgy
{A) 125% (B) 40%
() 80% D) 125%
el AYB-C=2:3:4 then%:%:%isequalto
(A) 4:9:16 . B) 8:9:12
(C) 8:9:16 P’ 8:9:24
A:B:C=2:3:4 erafley %:%:%—e‘m W&y sedr
(A) 4:9:16 (B)r 819512
(G- -8:9:16 D) 8:9:24
https://t. me/tnpscfree https://t. me/tnpscfree
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85. IfA:B:C=2:3:4then£-§ i
B.C.Amequalto
M8:9:24 (B) 9:24:8
(C) 4:6:9 (D) 5:9:8

ABC-934grgﬂi:§;£=
B C A

(A) 8:9:24 (B) 9:24:8
(C) 4:6:9 (D) 5:9:6

'50. A ribbon is cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of the ribbon is 24 m.
Find the length of each piece respectiv ely ' '

Wﬁmélm 14 m ' - (B) 14m.4m, 8m "

_(C) 6 m, 16m,.4m - (D) 4m,6m, 14m

24 8 Bemqpemer 20 fauer 3 @ 2 1 7 aam eﬁ].ﬁgg@m 3 m@aa‘rﬁé] Gleu L OuBidlng erafl
eeullaumm s e Bemod apennCuL crene? _ -

(A) 615,45 148 ' (B) 1415 445, 88

(© 6816848 D) 48, 6185 145
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72. IfA:B=4:6 B:(C=18:5; find the ratiocof A: B:C.
A:B:C - A B :C
A
@ 12 : 5 18 . ®) 5 12 18
A: B :C I A: B . C.
C .
V 12 : 18 : 5 o ©) 18 = 12 : 5

A:B=4:6 B:C=18:5 aadfld A: B: C e Ifssenss ses

A : B : C ) A : B : C

A

@) 12 : 5 - 18 B 5 : 12 : 18
A:.B:C A - B.cC

C . -

( )_ 12 : 18 : 5 _ - D) 18 : 12 = 5

199. If A:B=2:5 and B:C=4:1, then find A:B:C

(A): 2:9:1
B) 4:9:2
M8:20:5
(D) 4.:18:3

A:B=2:5 vpgw B:C=4:1 eaflé® A:B:C aenug

A 5291
B) 4:9:2
€ 8:20:5
@) 4:18:3
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IfA:B=5:7Tand B:C=6:11. Thenfind A: B:C.

(A)  55:77:66 M30:42:77

(C) 35:49:42 (D) None of these

A:B=5:TwdpgbB:C=6:11aafleoA:B:C anam.
(A) 55:77:66 B) 30:42:77
(C) 35:49:42 (D) eageydoame

37. If A:B=5:7 and B:C=6:11 then A:B:C is
/30:42:77
.(B) 40:35:27
€) 20:15:17
(D) 15:20:30

A:B=5:7 wppb B: C=6:11 eafléo A:B:C -en gy
@)  30:42:77 |

(B) 40:85:27

(C) 20:15:17

@) 15:20:30
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o
[~
L+
I
o
|.q
5.
Q
>
y}
B

q}&i Ha:5=2
(Ay_ 2lcs (B) 15 10':_21-_-_ .
.(gﬂ 10: 15 21 @ 21001

a:b=2: 3 b c-5 Tﬁaﬂma b: c—arm@uq
'.(A)'._' 10: 21: 15 S e (B) 15 10 21_
© 10 15 21 ‘ : - _(D)_2'1-:10:15-'

T
S
0.
<
o)
&
Q‘

S
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50. Ifa.:b=5:9 and_b:-c=4:7 thena:b:c-ié

(A 36:20:63

‘y 20 :36:63

®) 36:
. (D) 63:

a:b=5:9 wpgb b:c=4:7 qrsnﬂé}q:bzlc g

A) 36:20:63
(0 20:36:63 -

B) 36:
@) 63:

175. IfA:B=7:8B:C=24:9FindA:B:C?

(A) 12:20:8

'\;31’21:24:.9

(O 21:12:9

@) 7:8:

9

A:B=7:8B:C=24:9 crefl@ A : B : C -g sreins

(A) 12:20:8
B) 21:24:9
€ 21:12:9

'(D) 7:8:

https://t. me/tnpscfree

9
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63 : 20

36:20

63 : 20
36: 20
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140. If A:B=2:3 B:C=5:4, thentheratioof A: B:C is
@)  15:10:12
®)  10:12:15

Uer 101512

D) 2:84

A:B=2:3 B:C=5: 4 aafl® A : B:C -éanclilflg eraug
(A) 15:10:12

(B) 10:12:15

© 10:15:12

D) 2:84

QD

m .
—
O
0
Q.
c
=
O
&
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-htt'gs

The least whole number which when aubtracted from both the terms of the ratm 6 7 gwes a St

- ratio less than 16 211s

B 2 Ja

© '4" i e s | _
6: TWQ@&QM@QmG@Muu@mQuW 16 : 21%@0’&!'0:9@
' eﬂﬂwmlﬂvﬂm@@m , . Lo
I T BRI B AL
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" 135, Compare the ratio2:3and 4: 7 .

£

B <
O =

(D)  None

 2:3 wpgb 4 : 7 OEssms @LGs

@ s

® <
© = :

0) Fgbldvena

145. 20% of (A + B)=50% (A — B). Find the ratio of A and B.

‘K 7-3

B) 3:7
C© 3:8
M) 8%

20%(A + B) = 50% (A - B) araflés A wpmic B-ulen Nz sreims.

A) 7:3
@) 827
(C) 3:8
D) 8:3
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a+b+c

92. Ifa:5=b:T7=c:8 then find
a
(A) 1 B) 2
C) 3 w 4
a:5=b:7=c:8 aafle® a+b+c-mm5m@.5],,}_
(A) 1 B) 2
© 3 D) 4
58. Ifa:b=c:d then — T 1€ is equal to
Q mb+1
G) (A) m:n (B dm:cn
H: (C) an :mb M a:b
&)
o3
c a:b=c:d aafle — &@ swionen chl&lsb a1 ?
i mb + nd
\ -
D (A) m:n (B) dm:cn
E (C) an :mb (D) a:b
[

|

104.  If 5x* —13xy +6y® =0 then x: y is

(A) (2:1only (5:3)(or) (1:2)

©  (3:5)only \}f (3:5)(on) (2:1)

5x% —13xy + 6y® = 0 crafled x : y e el b
A) 2:D)uvlpw B) (5:3)(or) (1:2)
©)  @B:5)w pw M) @B:58)(r) (2:1)

https://t.me/tnpscfree https://t.me/tnpscfree https://t.me/tnpscfree



34. A B C
If —=—=—then A:B:C is
&J 3 45 , | o
‘-IG P 45 B - B 2:4:6
7)) © 1:3:5 D 2:4:8 .
o
E .
D %=%=%aﬁl&A:B:b—érmﬂuu |
E‘- (A) 3:4:5 | B) 2:4:6
— (© 1:3:5 D) 2:4:8
2,5_
o
o
)
-
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a b

18L 10715 20 na:b: fm
A 1:2:3
@9’ 2:3:4
(C). 3:4:5
M) 4:5:6
i=i=i'qaﬁﬁa'b"c—dr : A
| 10”15 20 @ a:bre-anfiiunarg
| (A 1:2:3
B 2:3:4
©C 3:4:5
®) 4:5:6
BT Ifl:l:l=2:3:5,thenx:y:zis
~— % ¥ =B
N (A) 2:3:5 (B) 6:10:15
..9 (C) 5:3:2 & 15:10:6
d
A l Ly l—2 3:5 aafle x: y: 2 ereug)
x y z
(A) 2:3:5 (B) 6:10:15
(C) 5:3:2 (D) 15:10:6

https://t. me/tnpscfree
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104. If24=3B=4C.Thenfind A: B:C
| A 2:3:4

B) 4:3:2 | *

& 6:4:3

@) 20:15:2

24=3B=4Caefid A:B:Camar . . .o
@ 2:3:4 | LT e
B 4:3:2 | |

©C) 6:4:3
M) 20:15:2

. 101. I]‘:’-Z:;c_= 3y %-42 theh"x:y:z is
(A) 3:4:8 |
B) 4:6:3

\ﬁ 6:4:3

D) 2:4:3

2x=3y=4z sTeréd x_‘y é Grsiri'ugj
(A) 3:4:8
{B) '-4:6:3.
© _'6:4:3
(D) 2;4:3'

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree



40, If 2A=3B=4C then A:B:C is
(A) 1:2:3

y 6:4:3

2A =3B =4C aafi® A:B:C —an lfigid
(A) 1:2:3 |
(C) 6:4:3

36. If x:y=2:1 then (x2—y?):-(x2.+y2) is -

SRV gL
J© b3

x:y=2:1aeflé (x2 -yz): (xz +y2] Tena?
A) 356
(C) 53

B)

(D)

®

(D)

1:3
3:1

- 1:3
31

¥71. In the ratio x % of y to ¥ % of x, its fraction value is equals to

w (B)

(©) % Vol

y-én x %-&@h x-an y% @e_Cuw, 8ds Seensdlen POy

® = ®)
¥
© = (D)
¥
https://t. me/tnpscfree https://t. me/tnpscfree

2:3:4
4:5:2

2:3:4
4:5:2

https://t. me/tnpscfree



https://t. me/tnpscfree

If%=%=% thEﬂ . is
w 7 Mz
© = ®
AN
E_—_é.z-:;-crdﬂ a+b+te SEUS)
3 p R
A . (B) 2
o 1
© 32- o 7
If%=%=% the a+:-+c is equal to
@ 7 g
1
©) 3 (D)
a b ¢ L a+b+e .. . .. . .
-§=E=? erefic ,&Epmmq_mg),ﬂp@m &FOLD.
c o o
(A) 7 (B)
1 _
(©) 2 (D)

https://t. me/tnpscfree
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If E_:E=£ then the value of is
3 4 7 S
S 1
a’,\z (B 7
2 1
e Dy —
© - D) T
%=%=% Grésﬂd) cz+f: - & LIy
@ 2 ® =
J7
2 -1
C £ —
() - D) T
If—q-:-%=£ 1;hl1a+b+c is equal to _
®nw | Mz
7 28
C - i
©) 5 D) 5
e b ¢ erafied a+b+c—dfm,ﬁﬂqers&rm?
3 4 7 c - . .
@A 7 ® 2
7 28 -
© 3 D) o

https://t.me/tnpscfree

a+b+c .
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7.

hugs

Which is biggest ratio?
2:3,3:5, 47, 5:8 S .
a8 o B 47

o s e

2.3, 3:5, 47, 5:8 GaupHd Aufiug &

A) 35 ‘ ® 47

© &8 . O 3

https://t.me/tnpscfree
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83. ° Two whole numbers whose sum is ?2 cannot be in the ratio
@ 57 ® 3:5
J 3:4 | . @ 45

?é s [H&QsTens Qama @@Qp@ ﬂm&ﬁﬁéﬂ dg0 &Q&@Lmr@i Qmss pyuwng

@A) 5:7 - C® 35 |

) 3:4 | - (D) '-4':'5."_-

51. Ha:b=2:3,b:¢=5:7 and c is 42 whatis a =7

A 12 @ 20

© 21 D) 22

a:6=2:3, b:c=5:T7 araflé® ¢ = 42ararprer a="?
(A) 12 (B) 20
© 21 - D) 22

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree



49.

30.

22,

Find thé number that mi:st be subtracted from each term of the ratio 27 : 43 to make it
7:15- |
@ 17 “ B) 20

© 27 0 s

27 : 43 aenp elfs5HNBHEGD gggﬁqa;aﬂaﬁ@w apg eremene sfés T 1 15 aardlam lfsn

Heor_gtd | |
RN - ®) 20
© 27 - _ | D) 13

If g:bis 2:3, b:c is 4:3 and ¢:d is 2:5 then a:d is
(A) 18:45 L .\Klszais
(C) 8:45 N (D 16:18

a:b=2:3,b:c_=4:3,c:d=2:5 creflec a:d="7? _
“(A) 18:45 - ' E ' (B) _16:45
(C) 8:45 o D) 16:18

Find the velue of x if (5 + 15): (2243 =10:3 Ad
© -1 | @ -4 s

| (5;415):(2;:-»3)‘;10:3‘ erafich xarm,g.jq, | | :
@ 3 o ® 4

© -1 | . D -4

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree



'127. Ifx=y=3:4, find (4x + 5y) = 5x - 2y

31 32 33 7
(A) . ! h ©) =7 - M) ™

x=y=3:4 aafle (4x + Sy) = 0x - 2y anuiE snans.

31 | 32 33 7
(A) 3 : (B) 7 © = ) 32
6. The inverse rﬁtio of1:2:31is , '
D (A 3:2:1 SN 4 I
C 3:6:2 o | M) 3:1:2

1:2: 3-Qen gawabp Nfls
(A 3:2:1 | . @B) 6:3:2
(Cy 3:6:2 - _ D 3:1:2

~170. Hfa:b: e:d i 13 a proportion then whzch one of the followmg is true?
@A) asbrdie

B) (a+b):b: (c+d)c

\}Q/(a b):b:: (c-d):d

bacd )

a:b ::c:-d TG @ Hl8S soses 2 Fursgdns aalie &@m@mmmﬁ)gdr 18 Quoinisreg? .
-(A) a:bid:c |

@) | (a+b):b:: (_c+_d):_c

© (e-b):b:(c-d):d

o) b-: a::c:d

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree



4. Hx:y:z=1:2:3 and x*+ y* + 2* = 224 then the value of x® + y® + 2% is

86.

.38

(A) 576 _ B) 1728

ﬂf _2304 _ | D) 2240

x1y:z=1:2:3 oppbd 2 + y* + 2 =224 aaflé x° + y° + 2° -én wHuy ererar?

(A) 576 - (B) 1728
(© 2304 (D) 2240

What is the ratio of 2% hrs to 20 minutes?
@A) 153 | | ® 15:1
(© 10:2 . o 2 152
| 25 wef CprgBn@io. 20 PuilSHDED 2 et el
Aa) 153 -  ®B) 151 -
©) 102 . - D) 152
- Which of the following ratios is greatest?
A 7:15 | B) 15:23
© 17:26 - g e
Sleraumasenaibmier ahs ellfzn Auiiuig?
A)- 7:156 (B) 15:23
© 17:25 . (D) 21:29
https://t. me/tnpscfree https://t. me/tnpscfree
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133.

o
Co®

188.

Golden ratio 1: 1.6 forms a pr'opoftion with x: 8 ‘then value of x is

3.
© 2
O 1

BRI sﬁi&]gj@mmﬁu@tb 1:16 gearg x:8 aap dssgdn ¢n Hfs swjmg Swwésdpgl
erafled x-ebr LS LIY | : -

@ 5
® 3
© 2z

D 1

If 2x+3y-52=0 and -3x+2y+ 7z =0 then the ratio x:y: 2 is equal to
‘l JLE1E 1. |

(B) 1:13:31

(Cy 2:3:5

(D) 18:7:8

2x+3y~5z=0 Cuogtb —-3x+2y+Tz=0 crafléd x: y: 2 ﬂéﬁ)eﬂﬁgmagﬁ)@ésmm?

A 31:1:13

B 15185:31
(©) e e -
(D) 13:7T:5
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189.

1pscfree

I&.r

https

proportion?
A) 4

B) 14
W :

@ 12

What integer must be added to each of the four numbers 10, 18, 22, 38 so that they become a

10, 18, 22, 38 cranp pren(g cTanasEHL@ID THE (PP STERTMET Salig ST e _sE aansd g

il sges sewEEh?
A) 4
®B) 14
< 2
D)y 12
g 4 b _15 ¢’ -a’
Ifgz—s- and i then e 18
1 B) 2
(A) 7—,}' /3
5
o ® 7
25
15 ¢? - ‘ .
% .—_%mgbgl.b%'—'——e- ol 53— 7 - ohiy
2
1
(A) F (B) TB'
5
7 i
(o R

https://t. me/tnpscfree https://t. me/tnpscfree
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175. Ifa:6=2:3,b:¢=6:5 and a+b+¢c=30, then 2a+3b+4e is

(A) 30 oz

(€) 100 a M (D) 90

a:6=2:3,b:c=6:5 wpgd a+b+c =30 aeafled 2a +3b+4c eamug

(A) 30 B) 92
(C) 100 (D) 90

38.  Which one of the following is the smallest ratio?
7:13,17:25,7:15,15:23 °
(A) 7:13 B) 17:25 J T:15 D) 15:23
Aanaupeuaraupile Wasfhw ellfgid wing ?
7:13,17:25,7:15, 15 : 23

A 7:13 By 17:25 C(©) T7:15 D) 15:23
40. Two numbers are in the ratio 3 : 5. If 9 be subtracted from each, then they are in the ratio
12 : 23. Find the second number
(A) 52 (B) 53 - (€C) 54 ‘{) 55

3 : 5 aem ellélpgdlar Q) erarraer 2 amenar. yeweu geudeauraniaflFEhgn 9 SWEsLILLTL 2emal
12 : 23 aranp N 4lz585(mEE 0. Guentmeug) aTaTenanTé GNaTs .

@A)y 52 (B) 353 ' (C) 54 (D) 55

43.  What is the third proportional to 0.34 and 0.50?

S o711 . B) 0.75 (©) 0.76 D) 0.77
0.34 wihmw 0.50 erem erawaafien apenpmb eSlflg o eremen?
(A) 0.74 B) 0.75 (C) 0.76 ' D) 0.77

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree



191. Ifa:b=4:1, then the value of'\{a/b -+ '\}bfa is

uﬂ" 5/2 (B) 4 -"‘

© s ® 3

a:b=4:1crafleb \Jab +1[o/a -6t LBy
(A) 52 (B)

(I[N

C€) 8 (D)

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree



Ramesh and Meena divide a’ sum of Rs. 25,000 in the ratio 3:2 respectively.
If Rs. 5,000 is added to each of their shares. What 1s the new ratio Meena and
Ramesh’s Share.

(A 4:3 - ' AS:LI

.(C)' 3:2 (D) 2:3 .

rGweiguyd, Bemayd gy 25,000 g 3:2 aanp lfgsHd 1NN sas Gla;rr&a‘rl_smr'r <iga Ym@
gallaummeummd ser wmdld . 5000 wpseSH G\sueﬂaﬂggwn gmGur@ 1BammeysELb,
rGeesEw 2 amer Lkidlen ydlw eSdgn

(A) 4:3 (B) 3:4
(C) 3:2 \ ' D) 2:3

Weekly income of two persons are in the ratio of 7:3 and their weekly expenses are in the

ratio of 5:2. If each of them saves ¥ 300 per week, then the weekly income of the first person
18

(A) 7,500 B) % 4,500
(N T 6,300 - D) % 5,400

Qe BuTEEEMLW  eumy eu@pomand 7:3 eratm elflgsHaud, eury Qsmelard 5:2 GTEuT M
efldlssdad o dretar. oeuiser QmeurCL eumyh epumi 300 GelllgSerment erenmmed psed ;5urﬂaﬂ
GUITT QU(THLDITEITLD GTEUEETEY?

A T 7,500 B) T 4,500
(C) ¥ 6,300 (D) T 5,400

The monthly salary of A, B C is in the proportion of 2 3:85 If Cs munthly galary is
Rs. 1,200 more than that of A, then B's annual salary is '

_{A},' Rs. 14,400 (B) _Rs. 24,000
(C) Rs.1,200 - (D) Rs. 2,000

A, B, C g8ua @mn&aﬂm Lnrrg FDLIGT aflflzih 2 3 5 u&@u} C— ¢ omg sbuemd A evw ST iggild
. 1,200 ayflab sraflés B e aa,sm@ sibLIGTLD areras?

(A) o 14400 (B) . 24,000

© ® 1,200 - D) @ 2,000
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51.  The ratio of boys to girls in a class is 5 : 6. If the number of boys i1s 30, find the number of

girls
M 36 B) 46
©) .82 D) -42

@m au@Llbe 2 arer wreaweu wremellsatien elldlsd 5 : 6 wrewmeuiseaflen cramaniisens 30 erafld

wrenredlsaficn crawTanii&ons eremes ?
(A) 36 (B) 46
(C) 32 - (D) 42

136. The ratio of boys to girls in a class is 4:5. If the number of boys is 20, then the number of
girls is

A 15 B) 20

v/% D) 26

@@ uELe wremeaisar, wrarellwiser elflgn 4:5. wremeuisaflen cramarflisams 20 eafld

wrevrelwfen cramenflsmns
(A) 15 (B) 20

©C 25 (D) 26

40.. Ina college, ‘the ratio of the number of boys to girls is 8 : 5. If there are 160 g:u*ls the total
- number of students in the college is

(A) 100 L ® 250

(©) 260 P \i6 | |
e sognfilléd e, Quarsaiien eﬂeﬂg,w 8 : 5. Queamsdr 160 aafl® sogriuie Cl"mrrgg
DTERTEU THET aramantisms - ‘

(A) 100 - (B) 250

(G 260" B (D) 416
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125.

151.

The ratio of boys and girls in a school is 7 : 4, If the number of boys is 2800, the total
number of students in the school is |

(A). 3000
(B) 3400
(© 4000

W w00

e uaraflufer o drar Wrawe mnﬁﬂﬁ@é@ @ean_Guuyerar Gﬂﬁﬁﬁ} 7 : 4. wreweufisn eramafisms

© 2800 erefieh Qrorgg womereu onereiliaficn TRl EanS

@A) 3000 |

B) 3400

(©) 4000 .
(b) 4400

The ratio of boys and girls in a class 4 : 5 if the number of bﬁys is 24, find the number of
girls

(A 20 ' (B)I 19

© 16 | o 0

o ELGe odar wrareue wHm - wrenellgailen cllflgnd 4 : 5 erar o.drarg. wrerTeuailem

Tt Gena 24 erafled wnereflsafien cramantl&ams ereucueray?
(A 20 B) 19
(C) 16 . ' (D) 30
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196.

Ruban and Krishnan divide Rs. 1,250 in the ratio 2:3. The share of each are

\j/'m; 500, Rs. 750

Rs. 550, Rs. 700

(C) Rs. _750. Rs. 500

(D) Rs. 700, Rs. 550

anmamrtmgi

A) @ 500. 5. 750
B) @ 550, 5. 700
©) @ 750. 5. 500

D) @ 700, &. 550

29. Divide Rs. 672 in the ratio 5 : 3
(A)  Rs. 400 and Rs. 272 xn/ Rs. 420 and Rs. 252
(C) Rs. 300 and Rs. 372 (D) Rs. 472 and Rs. 300
. 672-avw 5: 3 eraL WRbugre eniug)
(A)  em. 400 wHmb em. 272 (B)  em. 420 wpmid . 252
(C) @5 300 wpmid @m. 372 (D)  em. 472 wHD 5. 300
https://t. me/tnpscfree https://t. me/tnpscfree
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3. In a class of 60 students, the ratio of boys and girls is 2:1. How many boys and girls in the

class? 2
\y 40, 20 (B) 30, 30
(C) 20, 40 D) 25,35

60 Cuir Qamear_ @@ @UGd wrawme, wramellaErsE @ Cuwrer g 2:1 eafle,

SjeuauEUde wremeu, wramellseaflen cramarfiisms wng ?
(A) 40,20 (B) 30,30
(©) 20,40 (D) 25,35

142. Divide Rs. 675 among A, B, C in the proportion of 4 : 3 : 6.
(A) 200, 205, 270 190, 215, 270
() 200, 235, 240 W 180, 225, 270

. 675-m A, B, C-6@ 4 : 3: 6 510 085586 LR,

(A) 200, 205, 270 (B) 190, 215, 270
(C) 200, 235, 240 : (D) 180, 225, 270
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. 134. A ribbon is cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of the ribbon is 24 m, find

the length of each piece

(A) 5m,9m,10m

y 6m,4'm, 14m

©

D) 4m,6m, 14m

24 18 Beraparer Aliuenar 3 : 2 . 7 arenp Alflg sHd euligamme, Qaul Lt @@T@&Gﬂ@h fsemb

GTEIGuT?

A)

(B)

(©).
D)

518, 918, 10 8
615, 4 15, 14 8
818,418 1218

48,615,148

7’

186. What number should be added to each one of 6, 14, 18, 38 to make it equality proportionate

@)
V
(C)

(D)

1

2

3

4

6, 14, 18, 38 cramp @euQeun(m TRNSEHL 6 eTHS cTaRTERTS Sl i@ @Gy eNfgmsmrid HeLb@EWn?

A).
B)
©

(D)

1

2

https://t. me/tnpscfree
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62. A sum of Rs. 1,300 is divided between A, B, C and D, such that A’s share  B’s share =

" . B’s share™ C’s share
_(_J_Ts_sh___ar_e — 2 Then A’s share is ’ :
D’s share 3 .
(A) Rs. 140 g \/ Rs. 160
(C) Rs. 240 (D) Rs. 320

em. 1,300 eranmp Qgnensew A; B, C, D erenp praveumse@ Qe Gu Epssareurn WAssuu®Sng. |
AarumE Bearumeg Cerumg 2 et A e
Bearukeg Cearubie  Deaung 3 2

A) @ 140 B) . 160
(C) 6,240 - (D) em. 320

93.  Find the 4th proportional to 4, 16 and 7 \M
28

A) 26

€ 24 ' (D) 22
4, 16, 7-en prensneugy Nfssmss sawr(Hly..

Aa) 26 (B) 28
© 24 (D) 22

141. The fourth .proportional to 0.2, 0.12 and 0.3 is

@) 0.3 B) 0.15
wf 0.18 (D) 0.8
0.2,0.12 whmib 0.3 2 epL_w pns&r&nmg.aﬂéﬁg &b D@GLD.
(A) 0.13 (B) 0.15
(C) 018 (D) 08
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57. In aschool of 720 students the ratio of boys and girls is 7 : 5. Howkmany more girls are to be
" admitted to make the ratio 1 : 1? ' :

(A) 100 (B 110
o 120 o " (D) 105

720 wreweuiser LD LdTefulie) geTEaT LHDID ngﬁTaiG\‘ﬂéT ABsD 7 : 5 yEh. Pasidssms
1:1 e wTHY ereucueTey QUaTEmET FJa{hSONE Gar'réesGmsﬁur@Lb?

A 100 B) 110
© 120 D 105
47, Gold is 19 times as heavy as water and copper is 9 times as heavy as water. In what ratio

should these be mixed to get an alloy 15 times as heavy as water? .
(A) 1:1 y 3B) 23

© 12 . @( 3:2

BRI g,aio'raifmr]ﬁ Gured 19 1oL @ senorsayb, ﬁl‘l’l;gi]'[.b gamexteng Gued 9 LRIEG SLISaHD
o arangl. pamamerry Gume, 15 L g senores o Carss soma Qup, Reusdr aaalldgsdd
sa&sLiuL Couem([Hin?

4) 11 B 23

(C) 12 D) 32

'_21.' In a school, there are 800l studentsv'a'nd 25 teachers. If tht-al_student is int_:réased to 960 |
how n.l.any'more te_acﬁers should be appointed to mai tam the student - teaqher ratio?" '

m 4 - /:” B

© 6 - @M 30

@@ uerafluSiér 800 'Ln_rrmrmr'ré@m whoid 25 %ﬁﬂuﬁs@__ygblad'rmmfr. innaef - cTamerfigens 960

<SG DLEITED, e - %ﬁlﬂu..lrr AL wrpmed Gnés B cisoa s Afuisd -

Bundasiine. Geusr@b? . |
e ® s
© & S @ 80
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23.  An alloy is to contain copper and zinc in the ratm 9:4. The mnc reqmred to be melted with

24kg of coppens o .
-y/f?glié_ . ® ik
© 9:;’;—1{;; | | . @ 9Kg

e e Carss swmauiico 9:4 eﬂaﬁﬁﬁm grrl.ﬂl;rqpm g]ﬁﬁjﬁﬂ‘ﬁqpm 2_eTeen. 24 £ ﬂ §WLI9IJ‘§§II_GDT G&rrw
L (64 Falq I GISHHISD srmmarm GCopaneu

3

_(A)'_lo-B-a..aa @ 10%.&.&”
© ofaa O ves

90. ‘The ratio of three numbers is 3: 4 : 7 and their product is 18144. The numbers are
(A) 7,18, 13 |
P\ 18 24, 42

(© 12,18, 19 .

(D) 11,13, 16 | L |
apenm crewrEetien sﬁleﬂgsw (yam;pGu.l 3: 4 : 7 Gogub eumiiten Gugeiss;buaﬁélll_sufl erafled
Sidu Qi ser . .
(A) 7 18,13

(B) 18,2442 )

© 12 18, 19

D) 11,13, 16
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177.

176.

89.

The speed of three cars are in the ratio 5 : 4 : 6. The ratio between the time taken by them
to travel the same distance is ' '

A 5:4:6 . o B) 6:4:5
©) 10:'12:15'_ | W'12:15::1_0

eLpEITS anisefian Cousrisefian aﬁl.ﬁgm (y)eanuJ 5: 4 6. @55 apeny st @Gy g,ur;rgamg, SL&8

| sr@gg,la; Qarenenb Crrmsetien el & g1n

(A) b:4:6 ' | B) 6:4:5
€ 10:12:15 | (D) 12:15:10

‘The ratio of incomes of A and Bis5: 4 and the ratlo of their expendlture is 3: 2 If at the
end each month each saves Rs. 1,600, then the menthly income of B is

Rs. 3,200 - ~ (B) Rs. 4,000
(© Rs.3,600 ° - (D) Rs. 4,400

A'. m_ri)gtﬁ B_uﬁls&r_.m@mrrsmgﬁﬁ aﬁﬁglﬂéﬁ 54, @mffsdﬂc&r Qewaysalen dsD 3 : 2. G WIS
wpuede Gaisd Goomd salzsalGu @m. 1.600 Cabiggmiser crafld, Bem g QU(TLOTGBTLD

GreueueTa}? _ _ _
(A) m.3200 - ® @400

(© .3,600 : D) @ 4,400

An amount of Rs 420 1S chwded among A B and C in the ratio

%: . Find B's part.

l
3

(A) ' ' (B) 85

M 180 | . | D) 168 .

m. 420g A, B wpnpw C &G % : % -g—- sﬁ]dﬂggﬁm ﬁhﬁgg G.srr@gsg,rrm B-an uraj(g, Lur@?
@ 72 - - B) 85

(C) 180 S (D) 168
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39. | Two numbers are in the ratio- 1:2.If 7 is added to both their ratio changes to 3:5 then the

greatest number is
W 17 ' B 12
P B S D 3
@ aansefian b 1:2 @éseli®m CTETEEHL.E -8 mLWéa chiflgworeng 3:5 eren @p&lmg
crafléh @men L&&L’:Qufﬁy GT et N _
@a 17 : B 12
(C) 28 D 36

33.  Three numbers are in the ratio 4: 5: 6 and their average is 25. The largest number is

(4 35 ' B 40

© 4 - - @

apenyy sressilen eSfsib 4 : 5 : 6 eipayenLw syran 25 aald B Qurﬁu_r aTeRT 6T ?
@ 35 | - (®B) 40
C) 45 ' ' D) 30

38 The sum of the two numbers is 40 and their difference is 4. The ratio of the numbers is

- )(m/u:g (B) 10:7

5  20:12 @) 11:12

@@ cramaaiien s(Hge 40, seupBlen Caugun® 4 eraflcr, cuCeuarsafian el

(A 11:9 By 10:7
(C) 20:12 M) 11:12

12.  In avillage of 1,21,000 people, the ratio of men to women is 6:5. The number of men
(A) 33,000 % 66,000 (C) 55,000 (D) 44,000

@@ Srrogfar wss Qgrens 1,21,000. oyanm, Quansefiar dlflgn 6:5 eaafld oiféd 2 érar
@ saflen cramaiEans
(A) 33,000 (B) 66,000 (C) 55,000 (D) 44,000
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16.  The product of three number with the ratio 1:2:3 is 750 then the sum of their squares is

y 350 (B) 600 (C) 450 (D) 400
apangy eramsefian QumEEs Gsres 750 sieasdiar difign 1:2:3 aafld sj6uQeuasatien
surssmseflen sbHsd
(A) 350 (B) 600 (C) 450 (D) 400
41, Sum of squares of three positive numbers is 608 and they are in the ratio 2 3 : 5. Then,
find the numbers ‘
A 6,915 df 8,12,20 - (C©) 10,15,25 (D) 14,21, 35

eparm Wans cramaaiien eurshsmisalen s {Bad 608. Cogb oeuCaarsalcr cldsiga2:3: 5, aafle
DIBS TRTEHGT LITGOGU?
Q). 6,915 B) 8 12,20 © 10,15,25 (D) 14,21, 35

\

42. If30%of A=0.25of B =% of C, then find the ratio A: B:C
5

(A) 15:12:10 B) 12:15:10 w( 10:12: 15 M) 10:15:12
A-a&30%-B —-ar0.25= E: C aafleo A: B:C erenp flggengs smer

5]
(A) 190:12:10 (B) 12:15:10 (© 10:12: 10 (D} 10:315:9%

128 _Three numbers are in the ratio 2 : 3 = 5 and the sum of their aquares is 608 then the
"~ numbers are reBpectlvely ' :

@) 616,10 o R mﬂ 8, 12, 20
- (C) -12,8, 20 . o (D) 20, 8,-12°

.‘2 3 5 srewm eﬂeﬂg.gﬁw e.grar mem mmaaaﬂm ansssafien n@g@) 608 Graﬂa) am@mm&m

'_@pa)m@u.l .
@ 61610 ® 812,20

© 1282 @ 20,812

71. Divide Rs. 2600 among A, B, C in the ratio 1/2: 1/3: 1/4-

1) Rs. 1200, Rs. 600, Rs. 800 2) Rs. 800, Rs. 1200, Rs. 600
1) Rs. 600, Rs. 800, Rs. 1200 /Rs, 1200, Rs. 800, Rs. 600
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7 A 4

\. B, C play cricket. The runs scored by A and B, B and C are in the same ratio 3:2. If A, B, C together
scored 342 runs, then the runs scored by A, B, C respectively are-

Y162, 108, 72 2) 192. 90. 60

3) 162, 72, 108 4) 160, 108, 74

" 162. DnndeRs GSOamongA,B CsothatAgeta3t1mesmoretoBanngets4hmeahoC

"'(A) Rs. 160 Bs. 4035480' o
,ﬂf Rs 480, Rs. 60, Rs. 0
© Rs. 480, Rs. 40, Rs. 160 '_
o ™ R 160 Rs 480 Rs 0 -

A—a;@ B -0 Gurra) 3 tm._rsl@m B-s@, C—mu Gurrm 4 u:t..m@,m &lmuﬁ@mum, @ 680-$ Lﬂlﬂwm, '
" SieuigeT ngm Qprrms peoplu

(A) 5. 160, 5. 40, 5. 480
® . 480, @.;160',_@.40
© _ . 480, g5 40, . 160

. ® empmsn

182 Anand, earnsRs Bf}m'? hrs R.ameamsRs 90i in 12 hrs The ratm nf thelr earmngszs
__"(A_) ‘23:12 L '_ (B) 8: 9 |

_ Q,em‘mg ereamLGuit 7 afl G,tﬁms@m . 80 -, Urru:. erétLauit 12 weafl Gg,qg@cu @ 90-1b #ﬁz»ﬁrrﬂggﬁ&; o
.ﬂﬂJﬁEﬂT&Lﬂuwﬁgﬁ Gﬁﬂmaﬁqﬂmsﬁ}ﬂgzm ' 3 . ' o
(C); 32:21 o D 7:12
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| The sum of twe numbets is 40. Thelr d.lfference 8 4 then the ratm of the nu.mbers
-_-_'(A)- 113 - ~{B)711

o m_::.t- o - © 10:9

@@ Grmsaﬁél &@,5«0 40. afmmsaﬂm eﬁ]gﬁu.mm 4 srsuﬂm éllQ.lGGUGﬂlTﬂSGIﬂGGI sﬁlé]gn

@ ows G

___-<0)'_'.1p.7; o @ 1009

192. T 1,245 is divided among 3 persons so that if ¥ 10, ¥ 15 and ¥ 20 are subtracted from their
shares, then the ratio of their shares become 3 : 4 : 5. Then their shares are respectively

(A) 4152 310;,% 520 (B) 310;%520;2 415
(C) Z415;%520;% 310 1 2310 2.415: 2 520

A 9eSpBgI e510 gouytb, B @Slimb gl em1S gujib C adlgwb gl eb. 20 goujib

SLOGF T, eurrger OLimid OGTenssenlesr al&FD 3:4:5 &r6iT MY
BE&GL ULy er1245 et YIAgsmev, epeubleum(meuhtb Gl mLD
srens (LpenGus

(A) em.415;em.310; em. 520 (B) em.310; em. 520; em. 415
(C) em.415; em.520; em. 310 (D) em.310; ¢/5.415; em. 520

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree





